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@g&ég & 82Q0h

A person invested a tota amount of Rs. 15
akh. A part of its was invested in a fixed de-
posit earning 6% annua interest, and the
remaing amount was invested in two other
deposits in theratio 2 : 1, earning annua in-
terest at the rates 0£4% and 3% respetivey.
Ifthe tota annua interest income is Rs. 76000
than the amount invested in the fixed deposit
was.

2.8 &8 88 3G & 15 0w Srarchest o8
e 6% $80en® DENE Barad D,

ADS Er. o 2:1 AYEE® Bod grrrenrr B
SEre 4% £005 3% $ETens® odpre

BTN, 8 BoSB)Bo SuxE HEE AReT DS
$0050 DADS B 0P ©HoDS FnPo ertHE
76000 &r.en wond HEE &ar2ee” T wden

55"2533& Do&?
1) 7,00,000 2) 9,00,000
3) 7,20,000 4) Db

A person invested some amount at 15%
simpe interest and some 0f20% simple inter-
est. Hereceived yearly interest of Rs. 250.50.
But if he had interchanged the amounts in-
vested he would have received Rs. 10 mare
as interest. How much did he invest at 15%
simple interest.

a8 K8 &5 58 ey Sb":ﬁ»&é’s o8 K
PHSE (Bedo 15% 08050 20% HESew
TS @dpre 8y ©Hodd Hsd 250.50
B o0 28 ¥ & Both wden Er. e SetErd
B o &R @) Bo&op ©PoDS erhSs
10 8. 00 X0, @and Indd erisos® wden
Qoes?

1) 830 2) 770 3) 630 4) 940

A man purchased a telivision which cost Rs.
13240 on the ferms that he is required to pay
some cash down payment following by Rs,.
2794 at the end of first year, Rs. 6292 at the
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end of second bear and Rs. 1331 at the end
ofthird year. Compound interest is charged
at the rate of 10% per annum. calculate the
cash down payment.

2.8 %58 13240 &r.0 98 T3 8.9, 5%0ren
B, @Sk o K TS Do Z‘r@o{),
& SRS 088 DodB)Bo DSBS 2794, BokS
Jod&so DHBS® 6292 Er. o HorEd
Jod& B0 D50t 1331 Er.e0 Yo, (HS
Bosg)so SESE Bew 10% @ond SKS
TSR0 P50y dod?

1) 3000 2) 4500 3) 4000 4) 2823
In a tank six taps of equal efficiency are filted
onequal intervals. The first pipe is at the base
of'the tank and the 6th pipe is at 5/6th ofheight
ofthe tank. Then calculate in how many times
the whole tank will empty. If the first pipe can
empty the tank in 16 hours.

2.8 €7%5050 6 K™ PSoTRgen BOES 6 Do
JEmS oSt 33@;63. BB DS Hrd
g0’ B 65 P o @BwE) 5/6
0% HE DD, B D eeg0HI 16
Ko.08° gof Sasnds. @ ©Q) DI %505
IweeR) Vo8 $oHos® ard Tasni.

1) 412 D.ew 2) 392 Qd.ew

3) 388 Jd.ew 4) 404 Q.e»

A person buys 1596 article at rs. 4530. He
sells 608 articles at 25% profit and 456 ar-
ticles at 20% loss. At what profit/ loss per-
cent he had to sell the remaining articles so
that he will get neither profit nor loss in the
whole fransaction.

a8 agard 1596 S%Ho 4530 Sr.o8
g55fPen Bart. @oHe® 608 SyHed 25%
o350, 456 D 20% SHoE e .
©ond DHADS SHHOKH Jod PSS oeglo
(Be) 2633055 @@3&26&3’0333 & agar08 ergo
520 3G 5% &oKE?

1) 11.42% 2) 13.97%

3) 9.85% 4) 10.56%

A shopkeeper marks his good 17% above
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the CP. At the time of selling the foods he
uses 900 grs. weight instead of 1 kg. Find his
profit percentage.

¥ TR0 85 B &) Shden SEBesps
17% g8 8% 89 &93}@&0@3& 2.8.8
2eor 900(P.e0 Er(BH SHBPATD. SnBo
D ©B8 $%) orgf B0 DoB?

1) 17.24% 2) 30%

3) 25% 4) 24%

Abag contains few coins of Rs.1, 50 P, 25p
be expressed by three consecutive odd prime
numbers that are in the ascending order. The
total value of coins in the bag is Rs. 58. If the
number of coins reversed in order then find
the increase in amount in the bag.

2.8 erEnS® 1 8r., 50 .o, 25 Dben oemen
Eos). 0 Ik Lot (Heesd 6033565 €0ea°
B Bego by e8iive (Eost IO,
T8 @) Indo Jend 58 Br.eo. a8 B¢ 3
B 1 &r., 50 pden, 25 Pden B35S
c—t:é(;\@oaaé & wébé% TBS0O Dend Jo?
1) 80 2) 81 3) 82 4) 84

If (at+b-c): (b+c-a): (cta-b)=8:7:6. Find

1
¢

Q |~
T

(atb-¢) : (b+tc-a): (cta-b)=8:7: 6 wond

111

Z:Z:Z Qend Does?

1) 195: 182 : 210 2) 182: 210:195
3)210: 195: 182 4)15:13: 14

The ratio of the incomes of A and B last year
was 4 : 3 respetively. The ratio of their indi-
vidual incomes of'the last year and the present
year are 3 : 4 and 5 : 6 respetively. If their
total income for the present year is Rs. 8.04
lakh, then the income of B last year was.

A, B o &g (880 Sos8)Bo @) emraire
DB 4 : 3. B B Bwg) (880 Dod& 8o
&0 DB (RS Hod&)Bo erraire
DB 3 : 4. B BwE) 880 Sod&Bo dasn
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12.

13.
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(508 SodB)Bo wmraire QB 5 : 6. b
880 Ingo @wraho [HnBo Ho.odE 8.04
oFen wond B BwE) (B&o Ko. errado Jod?

1) 3.6 o 2) 2.4 oFen
3) 2.7 oFen 4) 2.8 oFen

Father age is 3 times of sum of the ages ofhis
two son's after 5 years sum of the son ages is
4/7th of father age. Then find the father age.

(BBo Eol@ S0y 0BV VYD HETG

o B8 3 Bew. 5 Ho.e0 Ehard SodHe
IvBo 30Dy Bol@S® 4/7 Hod wowd [FBdo
So(& HoHY) DoE?

1) 26 2) 30 3) 25 4) 35

X, Y, Z started a business with 30,000,

50,000 & 70,000. X acts as a warking part-

ner is to reciev 10% of the fotal profit and the
rest is to be divided among 3 in their capital
ratio. Ifthe total amount recived by X was
28000. Find the total profit.

X, Y, Z en 30,000 &r.e0, 50,000 &w.e0

08650 70,000 Be.08° argRroed) (@80

X aaps g 525600 $o8 D)0 Ingos®
10% €80 B85 HADS I &b Eiadd

H0HE"I0. X 8 398 Ivdo 28000 B.en

©o0S 08 SN Iwdo erdo DoE?

1) 1,00,000 2) 80,000

3) 2,00,000 4) 5,00,000

The weight of 5 members aut of 18 is mea-
sure in sequence and the average weight is
calculated after the measuring of weight of
each member, then each time the averge
weight is increased by 1 kg. Find the differ-
ence between weight of first and last number.

18 08 g% 28H a.,é's&égp& 2.8 (Eost

590, a.8%8) 63 550D Soxg Kt Bado

2%HH08. ee (DR SO it o

S00& Siken o0& 1 8.8, whSorr &od. wand
© ©onHHOS® s KHoA» DBE KKe

a%Pe  HFy HEsdo dod?

D788 25848 3)83.d 4) 1084

A and B started a business with 12,000 and
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14.

15.

20,000. After 6 months A invested a gain
4000 but B withdraw 4000. They got profit
0132000 after 1 year. Find A's share.

2.8 axrsoe® A, Ben 1,20,000 8.0 $8050
20,000 &r.08° (FrEodoB. 6 Jve Soard
B %8° 4000 &r.0% ogdor 18k, s A
4000 e o 088 EKHEZb. dod&Bo
DHES a°08 HYS ergfo 32,000 E.en @and
A so¢r Qo&?

1) 14000 2) 15000

3) 16000 4) 13000

Shahil spends 87.5% of his income. If his in-

. 1 . .1
come increases by! 15% and his expinditure

increases by 14.28%, then find his current

saving percentage.
FerE S wrrcHos® 87.5% 9dy) Bar. &I

1
sorao 1% 20T 9y Erwe 14.28%

BHB08. ©ond (HBo 9B FH) Jod
F&0?

1
4) 9—

1) 10 T

2)12.5 3)8

Ankit was to get a 29% hike in his salary but

due to typing error.Ifis wrongly typed the fig-

ure 57% and printed the newship. He received

this revised salary for 3 months before the

organization realized the istake. Ifthe excess

paid to him in the previous months is to be

deducted from his fourth month salary. If af-

ter deduction he gets 9000 as fourth months

salary then find his octual salary.

®085 &35 d8od® 29% DETY) God. 5

B0oh &%0 sdeorr, w6 P16 57% © S5pre
B85 D, 58 35 (208 Bob. ZnHdd S
038 BYoNI BRI TR BEJ TN Jo

£80 5008 &I Sreods S0 BP0 (DHriErosE
S006 w85 3 Joe Ftn &S5BS £8o

0BT, é@ogg) BoRE 08D mg:ﬁ Jo

£8ore 9000 &r.e0 PobdEans BB ©den
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16.

17.

18.

19.

20.

21.

£80 Do&?

1) 28700 2) 25400 3) 21400 4) 25800
In a class 60% of the students are girls and
rest are boys. There are 30 more girls than
boys. If 68% of the students, including 30
days, pass an exmination the percentage of
the girls who do not passis A.

a¥ 518" 60% Hob Drghen @O
0B 1ADS T ©2T2)0NED, WEIRON go8
30 H00d ®Irgone JEYS. 30 Hod
weranes® 5 68% 00 Degpen &8 SIS1TS)
HHBE 6BE 50 DB B0 Jod?

1) 15 2) 18 3) 20 4) 25
Find the remainder of
T+T7T+T7TT+T777T+———— .

g 100 times.
T+T71+TTT+T777T+————

g 1008y RBoE),
3H0 do&?
1)0 2) 2 3) 3 4) 6

(3% + 3% + 377 + 3%) is divisible by.

& 8od &S° 37 + 3% + 37 + 3% o
ePAOD Qdogyg 6?
1) 14 2) 16 3) 25

! + ! +————+%=?
Ix2x3x4 2x3x4x5 15x16x17x18

4) 30

n 815 2) 815 3) 713 4) 713
14688 4344 14688 7344
IfL.CM. (1, 2, 3, ----- 20)=x and L.C.M.

(1,2,3,4,----27) =K x x, then find value
ofk.

a8 3% LCM (1, 2, 8, 4, 5 --20) =X
S6csw L.C.M(, 2, 8, 4, 5, 6, 7, 8, 9, 10,
-——-27) K x X @on& k densd dos?

1) 3289 2) 345 3) 429 4) 115
The HCF of two numbers is 21 and their
LCM is 221 time the HCF. If one of the num-
bers lies between 200 and 300, then the sum
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22.

23.

24.

25.

of'the digits ofthe other number is.

Botd Dogye K357 21 o8B0 @ E.r.1%H
030 K508 221 Tey Sokh.© oHs® af
éogp?g 200 Hn8cs» 300 é)cﬁ?g éé&gwé o8
Bogst @ose Bwdo Nod?

1) 17 2) 18 3) 14 4) 15

5.75+5.75+5.75+3.25+325+3.25
5.75%5.75+3.25%x3.25-5.75%x3.25

1) 0.009 2) 0.0009 3) 0.9 4) 0.09
If a, b, ¢, d, ar integers such that

?

-
a+% 154
b+ 0 thena+b+c+d="?
c+ -
d
a, b, ¢, d e g Sopgen
-]
a+% 154
b+—— wond a+b +c¢+d Jens
c+ -
d
Q0 ?
1) 12 2) 13 3) 14 4) 15

Bottle one contains a mixture of milk and
water in 7 : 2 ratio and bottle two contains a
mixture of milk and water in 9 :4 ratio. In what
ratio of volumes should the liquids in bottle
one and bottle two be combined to obtain a
mixture of milk and water in 3 : 1 ratio.

Both FBS® e, e g5y DEen SO
7:2 %00 9 : 4. & ToBod » IHYS®
EO)S5e008 DT FK00e® Sren, Do QB
3: 1 &otnod?

1) 27: 14 2) 27 : 13

3)27: 16 4) 27 : 19

A, B, and C cando a work in 15 hrs, 12 hr,
20 hr respectively. At 4:00 pm A, B, C start
together. After warking together 2 hr, A left
and B left 2 hr before the completion of the
work. In what time the whole work will be
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26.

27.

28.

completed.

A, B, C $16 2.8 $29 S8 15 Ho.o6,
12 K0.08°, 20 Ko.0® Bohredn. ©okd EO%
Faho@o 4 Kotod DAY ([FrSodomedd. DA
(800D 2 Kotrod A oF 58 ST,
S Frd wiHeH 2 Kowe Swoh B Srwe
BLBST. wand & HY Iwdo d oot

FLe) @&33?3263.
1) 11:45 pm 2) 12:00 am
3) 12:45 am 4) 10 :45 pm

16 men as 21 women as 18 children can com-
plete a work in 93 days. In how many days
32 men, 35 women and 27 children warking
together complete the whole work.

16 08 Hrden Soe 12 HHod Geo Soe 18
08 doew af 3 93 Slweod® Grd
BHged. @ond @98 HA 32 Hod Hen,
35 006 Ben, HBH 27 Hod heen SOV
Y BPeres r BP?

1) 18 2) 24 3) 36 4) 16

A train starts from Delhi to vijayawada at 8
amand reaches at 10 AM. Another train from
vijayawada at 8 am and reches Delhi at 11
Am. At what time the two trains will meet.
&@ 2008 DescHartd &. 8 Kobrwd 20Hentd
&5a%0 10 Kotred e Ben ToK. HE°E Bew
DescHard 08 G50 8 Koy ©8 woHentd
&. 11 Kotred BB, wond T8 d SHohos®
5Pen0B 0TS ?

1) 9 Koéren 2) 8 Kotren

3) 9 Ko. 12 D.ew 4) 7 Kotren

The distence between A and B is 90 km.
One person travels with 4 km/hr speed to-
wards B and another person travels with 5
km/hr speed towards A. However, ifthey are
to meet at equal distances, how far from a
must they chane speeds (They both depart at
the same time)

A $08c5» B Bokh (@dwe g dedo 90
8.0 a8 £8 4 8.5 /0. SrKos® B 3:H8
(DoirBoBt. HE°E X8 5 8.5, /50, Br5os®
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29.

30.

31.

32.

B %08 A 3H8 (H05rB0U%H. @ond %
ElaletIRSEEN BrB808° Benio&lareoos A o
Do ErBoSt T8 Srred éﬁ&g?@@. (%
a%iéa 2.8 3500908 2oHendord).

1) 10 &.%. 2) 20 8.5.

3) 11 8.5. 4) 12 8.5.

Two trains of length 600m and 400 m travel
in the same direction with speeds of 60 km/
hr and 50 km/hr. Find the time at which the
first train corss driver of the second train.
600 Su. 400 &. EH Ko Bok 3%y a8
&38° 60 8. . /0. 805w 50 8.8, 0. Jisos®
(B SrBiTN00. Wond J0dE Ben BoKD
Bt (BHED oreraedd dod HHoaso
Dol ?

1) 200 Eoy 2) 250 DEoL

3) 216 2Eoy 4) 300 2oL

A boat travels down stream a distance of 20
km in 30 mints. and up stream travels 15 km
in 45 min. Find the speed of the stream.

a8 HES (Harsrads® 20 8.0, &roed), 30
Q.08 (B8 $5B0p IS 15 8.8, o)
45 .06° (HATBoH. [Harse SHo dos?
1) 11 &.v. /0. 2) 128.%v. /K50.

3) 13 8.5, /0. 4) 10 8.5 /50.

The average of A, B and C is 18 and that of
C,Dand E is 12 and that of E and F is 6.5
and that of E and C is 3.5. What is the aver-
age of A, B,C,D, Eand F.

A, B, Co %ien 18 $0805» C, D, Eo Hisexn
12, E %3805 Co %iew 6.5 605 E, C o
Sien 3.5, wawad A, B, C, D, E, F o &i5ew
Qoes?

1) 24 2) 16
If 3x-4y =

3) 18 4) 22
5z-2y, where xyz#o.

27x° +122° -8y’

then="?
6xyz

3x - 4y = 5z - 2y $0805%» Xyz#HOo eond

27x° +122° -8y’

Qend o&?
6xyz
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33.

34.

35.

36.

37.

1) 14 2) 16 3) 15 4) 17
Ifthe difference between CI and SI on a cer-
tain sum for three years is Rs. 992. If rate of
interest is 10% then find principal.

Fod e PP 3 Voo seod $i)
DG, HESbe BHso 992 Er.eo HHBAW
zécz;ééw 10% ©ond @den Hos?

1) 3000 2) 3600 3) 2400 4) 2700
A corn cob, shaped sone what like a cone,
has the radius of brochest end as 2.1 cmand
length as 20 cm. Ifeach 1 cm? ofthe surface
of the cobcarrles an average of four grains,
find how many grains (approzimately) you
would find on the enthre cob.

2.8 Boand) wsP808® &) IKES) P& @)
IS &) méﬁgm 2.1 20.8. Ho85w
T Q& 20 Ro.ab. © &) P ) &
DBB0D DKKENY (B $.0.L. $H Teenid
Aoeen PP 608 © P& Ko Ingo Aoee
Ldogg?

1) 562 2) 531 3) 525 4) 512
By using the digits 1, 2, 7, 9, 4 how many 5
digit even numbers can made ifrepetition non
allowed.

JrdoeHgo sedore 1, 2, 7, 9, 4 wo8od®
E)é&éiﬁﬁ@)ﬁ 5 ©08w 8 Yogge Koxy dos?
1) 16 2) 36 3) 24 4) 48

The base of a triangle is 4/3 times its heights.
If area of the friangle is 600 cn?’. Find the
base.

2.8 (BeHeso e S 4/3 Hok. e (Behes
S350 600 $.20.. wand e (ghezo g
Qoes?

1) 30 20.8». 2) 40 20.8.

3) 50 20.8. 4) 60 20.8.

The perimeter of a rectangle is 28 cm. Ifthe
length is 5/2 times its breadth. Find the length
and bredth of the rectanges.

a8 83 SEYRo DoE) HépSod 28 20.8.
P PEDH ey 5/2 By @ (5{3) Fe&B(Ro
PED), Sen)oky EFDL0?
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38.

39.

40.

41.

1)9,5 2)10,4 3)6,7 4)11,3
Three spherical balls of radii 1 cm, 2 cm, 3
cm are melted to form a single spherical ball.
In the process, the loss of material is 25%.
The radius ofthe new ball is.

1 20.8, 2 20.&, 3 20.8. a°§3°qp°e»m SR
Sty Figeed E8A0D a8 ﬁs‘m& S5 Bt
& Ao 25% Mw(FHoo é‘sé’sa)owzé fé%o
a7°§.3°go do?

1) 6 20.8». 2) 5 20.8.

3) 3 20.8. 4) 2 0.8.

2 cm ofraln has fallen on a sequare kilometer
oflan. Assuminy that 50% ofthe rain drops
could have been colected and contained in a
poolhaving 100 mx 10 m base, by what level
would the water level in the pool have in-
creased.

2.8 S88 8.8, Jarego Ko Qoo 2 20.8.©
SEarSo S3etsowod. 50% SEH HBY HEBoD
e OB 100 &. x 10 &. Foden Ko Foke®d
@3%33@26 S0 O 080 Jod Gotwod?
1) 15 . 2) 20 &. 3) 25 . 4) 10 .
The average of six numbers is 32. If each of
the first three numbers is increased by 2 and
each of the remaing three numbers is de-
creased by 4, then the new average is. 0
8% Jogge difen 32. 0B SoxetdHd éoaa?geé‘s
(58 éogpeg:é) 2 009D, S Ko5otH éogpéeé's
8 Sopgd 4 SN 5°8 $o°K0 dod?

1) 35 2) 34 3) 31 4) 30

Direction (41-42): Each of these questions con-

sists ofa question followed by information in
three statements. You have to study the ques-
tion and the statements and decide that in-
formation in which of the statements is / are
necessary to answer the question.

K55 (41-42) 1 S (BB (8 (58 Samtd (HHSTOH

EON Gotnoh. (DB I8P Jdrgrdo
HB0HEE, & (8o ASE D& KBS0k,
What is the capacity of the cylindrical tank ?
I) Radius of'the base is halfof its height

UNIQUE STUDY CIRCLE
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42.

43.

IT) Area of the base is 616 square metres
[IT) Height of the cylinder is 28 metres

1) Iand II only 2) Il and I1I only
3) Iand I1I only
4) Any two of the three

é;;&’své 308 $oep HOXPE0 N0S?

I) &2 a5 B0 d& S B0

IT) &R g6 Szceg0 616 3.8

1IT) Spsho GoE) 2 28 .

1) I $080%0 T S

2) I S80s I Segad

3) I %8050 I11 S5

4) $r80BS° DI Bokd

What is the speed of the train.

I) The train crosses a signal pole in 18 sec-
onds.

I1) The train crosses a platform of equal length
in 36 seconds.

IIT) Length of the train is 300 metres.

1) I'and 11 only 2) Il and I1I only
3)Iand II only

4) 11l and either I or 11

Ben 30 Dos?

I) Ben KogrRy 18 .08 medob

IT) Bew SPEHH BETSTS ape5aron 36 .ok
>8od.

I1I) Ben &) 300 doeadsy

1) I $080%0 IIT S

2) I £odcsw TII Soelsad

3) [ 08050 11 S(gss

4) III $0805%0 I S 11

In how many dasy can 16 men and 8 women
together complete the piece of work.

I) 8 men complete the piece of work in 10
days.

1) 16 women complete the piece of work in
10 days.

IIT) 5 women take 32 days to complete the
piece of work

1) Onlyl and IT 2) Only I and I1I
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44,

3) Only II and 111

4) Only I and either I1 or II11

16 $08 HHven $8c» 8 e 02 H
ozeR)) A B’ Bohied?

) 8 Htoen 10 Seres® BoHhrKe.

1) 16 §en, 10 Seres® Sohreds.

I10) 5 §ev, 32 B%s® Sohrses.

1) I 508050 1T Sm@sh

2) I %800 [11 S8

3) 11 S0805» T S8

4) I SH8cs0 11 e 11

What is the rate of interest p.c.p.a.

1) Simple interest earned per annum is Rs.
5,300

1) The difference between the compound and
simple interest on an amount is Rs. 1,060 at

the end of 2 years.

[IT) An amount doubles itselfin 5 years with
simple interest.

1) All the three 2) Only 111

3) Either II or I1I 4) Only Il or I and I

F055)08 $EBen dos?

I) $058)0°08 ertrsd 5300/-

1) 2 o. s%ars Cl, SI o 8o 1060.

110 5% & B0 08 sy, (B 5 $o.0H
Béogg) ©5)eH08.

1) I, 1T so8aso 111

2) I $(8

3) II &oe 1 &35

4) I See I o805 11

Direction (45-49) :

UNIT

1996 53 21 45 12 76 38 56 21 46 18 i

1997 49 18 az 10 45 24 63 29 35 14

1999 65 20 68 15 57 20 54 19 48 12

_ZOUO 7O 31 T2 13 B2 22 48 27 58 10

L 2001 / 44 15 56 23 38 32 40 15 [+14] 11

UNIQUE STUDY CIRCLE
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45.

46.

47.

48.

49.

50.

What is the average number of defective items
from Unit II for the given years.
SRR $0088° Bokd cHredeS Lod
&850 BOAS wome Hiken Dend Jod?

1) 21,500 2) 17,000

3) 12,500 4) 15,000

What is the ratio ofthe total number of ar-
ticles manufactured by Unit I1I to that by Unit
V for all the years together?

BRES BP0 5B, c5eeS 111, V 000
805838 SPIe 3ngo Jende HFy B
Qoes?

1)353:282 2)282:353
3)457:215 4)215:457

What was the percentage (rounded off to
nearest integer) of defective articles with re-
spect to the number of articles manufactured
by all the units together in the year 2001.
2001 B0.6° o) cSrdiie Hod Sc5rDS
SHest, $Ho EOAS SHen Krire dod
FS0?

1)42 2) 40 3)37 4)33
During which year was the percentage in-
crease / decrease in manufacture from the
previous years the highest for UnitI ?

K8 %0.8° O, O ¥038)B0S® W | Sod
6888° dBHEe Soe Srpde d8o noQgorr
EoXn?

1) 1998  2)2001 3) 1999 4)1997
During which year was the largest percent-
age of articles defective out of the articles
manufactured by Unit IV ?

O Bod&Bo®, e IV Kod Sasr3d
ShHes’, 8o 80AS ShHe 8o 1oZorr
Eodn?

1)1996  2)1997 3) 1998 4)2000
The quadrilateral formed by angle bisectors
ofacyclie quadrilater as s a.

1) Rrctangle

3) Parallelogram

2) square
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51.

52.

4) Cyclic quadrilateral

B8t SSpmo BwE) ©0B5E%, Ve HOLKY
Bpe Eoonss® béo)é SSotyeo d6?

1) &3 &0 2) S&BHo

3) ddrosss iﬁé)d)a)azo 4) zﬁéoﬁaiﬁéa(i)e)aao
Statements : Should hand baggage on all in-
ternational flights be permanently banned.
Arguments : I) Yes, It is necessary to ensure
security of passengers on board.

II) No, it causes a lot of inconvenience since
items of minimum requirement need to be car-
ried during long haul flights.

1) OnlyI is strong

2) OnlyI1 is strong

3) Both I and II are strong

4) Neither I nor I1 is strong

D8OS : ey @oéc;@oﬁo DS’ o508
aﬁeg?%éé{) edBore DHoTd.

TEsmen 1 ) oH, ErHos® HarddHe
PS80 éOU(;@oiﬁcﬁo ©I380.

II) s, 28 Srd (SFre ddrarod®
gé‘(néa@%é@?o?é B8 095585me% $020H0DS
50908 mrer ©EoNRY) EOAKN0H.

1) essn 1 Sr@dH aopss

2) amissm 11 $mEDH w56

3) aeesdmen [ 08ckn 11 220nd

4) se5dmen | 85w 1 eI 505
Statement : Now you can own a new car in
Just Rs. 2000 per month. An advertisement.
Assumptions : I) People do not want to buy
used cars.

IT) Most ofthe people can affered to pay Rs.
2000 per month for a new car.

1) Only I follows

2) Only 11 follows

3) Bothe I and II follows

4) Neither I nor II follows

(DEOS : 8IPL N IoKH SBewo 2000
Erarcahos® 58 525 rodo [SEHN) -
2.8 (D8,

UNIQUE STUDY CIRCLE 9

53.

54.

LGNSV
BRDES.
II) orer H0b (Heen &8 =2 %0 I
2000 3QosKie @;éaé EOA 60D,

1) I $m(@dh 9686

2) I $m(83 $BFS6

3) I So8asw II S8

4) | S8k 1I 5850

CHAPTER : SGWTFNJ:: ?: EGYPTY

I) Bumer &S 5080 §°8we8

1) SOLVES 2) LOVERS
3) SOLVED 4) ZVSCLK
TRAINED : 12 : : ADVERTISEMTN : ?
30 2)35  3)38  4)40

Direction (55-56) : Six persons A, B, C, D, E and

F live on different floors in the same building
having six floores numbered 1 to 6. The
ground floor is numberd 1 and the top floor
is numbered 6. A lives on even numbered
floor. There are two floors between the floors
on which D and F live. F lives on a floor
above D's floor. D does not live on floor num-
ber 2. B does not live on an odd numbered
floors. C does not live on any of the floors
below F 's floor. E does not live on floor
immediately above or immediately below the
floor on which B lives.

K55 (55-56) : et dghen A, B, C, D, E

50850 F e 6 @oééqgé’s Ko 28 &53508°
2898 THPS AV0HHoRD. ©Yodl Eod
Bod &%) @08 1 HBID Qo ol D
&%) @08l 6. A, 38 Doz @oéé{g@@’s
QRoHHodK. D odcin F e ddothide)
©OBEN® GG BEB> HgEen AHVOTLDHLOTLD.
E, D &8 3 @08hos® dddohhor. D
25 ©o8%s® AZVoHe S, B B> Hoayg
080" AdRoHe b, F 38008 &
©08 (8o C AdRoher B, B 150y
B @08 ), S (8od wosks?
™R DR B
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55.

56.

57.

38.

59.

Who lives between the person D and F ?
D 5080w F of S5t i 9550 255?
1)B&C 2)C&E
3)A&E 4) A& C
On which floor does C lives.
C 9 00880¢° 9520HH0RE?
1) 4th 2) 5th 3)6th  4)3rd
Six persons P, Q, R, S, T and U are belong
to a family. In this family one couple has par-
ents and their children. P is the son of R. T is
the daughter of P. S is the daughter of Q, who
is the mother of T. Then how R related to U.
1) Husband 2) Wife
3) spouse 4) Can't say
2.8 Semoasws® P, Q, R, S, T £8csm U en
Sodh. HBS® o8 YR wotrH S Solthden
S0 byen Eod. P, R &wE) Hrdhd. T,
P &) ©550°8. S, Q &wE) ©50°8. Q, T &)
$9. wows R, U & 50007
1) g8 2) grdy
3) g / 858 4) zﬁéa)éﬁzﬁn.
Pointing to a Man, a Woman said "His father's
Sister's Son is my mother's Sister's son". Then
how is woman related to that man.
1) Maternal Aunt 2) Aunt
3) Cousin 4) Sister-in-law
a8 B0 SrHEE, el HHHH S s
T, ‘@8 Sol& VO EHrtd, T 89
RSO Do) HITEDL” @A @ & © HEEB
AK0?
1) %) / 255y 2) Boises
3) 883 4) 383 [ Ho8en
Statements : 1) Some Circles are Traingles

2) No Traingle is Rectangle

3) All Rectangles are Squares
Conclusions : I) Some Circles are not Rect-
angles
II) Some squares are not Traingles
[IT) Some Circles are not Squares.
1) Only I follows

10

60.

2) Only I follows

3) Only [ and II follows

4) Only II and III follows

D8eJen 1 1) 8 ?ée)éaﬁwe», (Bgheeen
2) d (Bghess, ég HSBRo 50t
3) oy ég SSB(RKs50e,

SEBKB0
douren : 1) £°Q) HFsoen, ég} FEHE(RS0en
Sln v
II) &°Q) SedRHxwen, (Bgbessiooen
Sln
III) &7 Hsoen, SHB(H5men
Sln v

1) [ $m(8dH $o@s6

2) I $o(&3 56058

3) I 0805w I Sr(EdH B8

4) I 58050 11 38525

Statements : 1) All Black are white
2) Some White are Blue
3) No Blue is Green
4) Some Green are Yellow

Conclusion : I) Some Green are not White
II) Some Yellow ore not Blue
[IT) No Black is Blue
IV) Some Blue are Black

1) Only L, II follows

2) Only 11 follows

3) Only II and either [ or IV follow

4) Either III or IV and Ony II follows

(D8I : 1) odPHensd, Bensd

2) &°Q) 80, deo

3) & Joo, VBB 5°
4) £ sHDY), $H

Soussmen :I) 59 w5, Bend 5o
IT) &) 5% , doo s
II1) & Sensd), oo =
IV) 5 deo, Sensd

1) I $08050 I £o(@3 $8GH5e

2) I Se(&3 6058

3) 11 S 805 [ Soe [V 883086
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61.

62.

63.

4) Il S IV S0 11 $m(835H $8&056
Abus starts from station A travels throught
the intermediary stations B, C, D and E re-
spectively and then reaches F. The bus takes
40 minutes to travel from on Station to the
next station and it stops at every Station for
10 minutes. Then if the bus reaches D by 2:30
pm then what time does the bus start at A.
o8 2K ‘ééﬁ AS® 235Hen B8 SKdre aéacéegé’s
55 ‘ééﬁe:o wond B, C, D %6c» E o
DoeHre (HasrBoNd BHEID. el é\g:ﬁS Sod
357 ‘?‘g‘;ﬁSéo Séfog)éoéo K)éae% SSooso 40
QK HHBA%D (H8 JRSS® 10 Dknosiaoen
DTesH0. oS S8 aXY) ?58&5 D% 2: 30 %.
& TBHEIL. ®ond '(58\3{15 A st AQoB8
205030 ?
1) 12:00 pm
3) 12:20 pm

2)12:10 pm
4)11:50 am

Direction (62-63): Complete the following series.
QeSS (62-63) : S5 (800 (BB HrB Tosnsm?

111, 1100, 10111, 101000, 11111,
1) 1110100 2) 1010101

3) 1011100 4)1011110
K3Y,N7V,Q23S,T95P, W479 M,
1)Z 2889
3)Z2879]

2)Z27897
4127797

Direction (64-66) : Eight friends Neeraj, Arvind,

Basker, Ravi, Sachini, Tarun, Manoj and
Ramesh each of Them wears a different
colour of'shirts Viz. Red, Blue, Black, Purple,
Pink, White, Brown and Yellow but not in the
same order. All of them are seated around a
circular table facing the centre. Arvind, who
wears black shirt sits third to the left of tarun.
The one who wears brown shirts sits second
to the right of Sachin, who wears Pink Shirt
sits second to the right of Basker, who is not
immediate neighbour of Tarun. Ravi, who
wears blue Shirt sits between the person who

UNIQUE STUDY CIRCLE

wears white and Brown Shirts. Ramesh wears
Yellow and sits second to the left of Neeraj,
who wears Red Shirt.

55 (64-66) : 8 o s JBE, ©8N0E,

64.

65.

66.

11

g5, 89, BAS, BB, SHSEE 585D BahSen
ENHB 88 Bord sRen ol B,
Do, Sensd, Hosecd, Herd), Bend, FH
$0B050 HHOD BB, DB wod aE
QYTEEDH Y Wty ErBN Bo(5B08%n
BreHHOBH. ©BNOB, Sen) Borh TP
SEY BBHH LS S D E82)0aBD.
oo Sotd &) 3:63&26& 58 DDSH BoKS
HE B ErENoRH. VA Herd Borh s
FEBH LB Fr5H ToES HE IH
B8R0, 331%275, BBH% e §7°8°Q26€3&53.
39, deoo o T JEY Bensh SoB®
505 Soikd AACPIOY 3&&‘926& zé?gé_op zﬁ:cﬁé
Er8y)0R. D%, D0 o s IO
DBEL BokS S FH Sogenielanl HEE, Ao
Borh SosB.

Who is opposite to Ravi.

1) Basker 2) Neeraj
3) Manoj 4) Sachin
BDE DB 68 K8 ANH?

1) 795 2) d5&
3) HSE 4) 308
Who wears purple Shirt.

1) Ramesh 2) Neeraj
3) Basker 4) Tarun
Sosecdh Sord F°5Y 3@?26&& AA?
1) 8% 2) H5E
3) e°55 4) 858

The one who sits between the person wears
yellow and blue shirts.

1) Tarun 2) Basker

3) Manoj 4) Ravi

505 S8 deo Borh Ssmen RIS EEVS)
i ErBF K& IS5?

1) 856 2) 55

3) HSE 4) 89
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Direction (67-68) : Complete the following letter

series.

{58 (67-68) @ & (808 @Y (BB FrBoHw.

15 ©58snm $H00n 255 ©Essn 265
wgssn 56 SoHsB. (58 8ok ek
$B8 ©HVOID.

67. ANARJ, BPDVO, CRGZT, , | 71. What is the code for P?
v 00000 P &8 8°6 HA?
1) DTDJY 2)YTDJD DN 2)L 3)R 4)]
3)DTIDY 4)DDTIY 72. Which letter is coded as S ?
68. a_bcdabb da ¢ dabc d S o eggsom 56 wand ©Fso?
1) abbed 2) acbed Hu 2)0 M 4Q
3) adbed 4) acbdc 73. What is the code for BLOCK?
69. Ifwe cancelled every third letter from left in 'BLOCK' &g 86 d8?
the alphabet series then which letter is 7th to 1) AJQEN 2) ALQEM
the Right of 15th letter from Right. In the 3)AJQEM 4) AJOEM
remaing series. 74. What is the code for NUMBER?
w0l ©EBEFOS® A H08 FoBer DY (B 'NUMBER' &%) &6 d08?
HrisS ©EBEND FoRodDd SKarE HADS 1) LVOAGP 2) LWOBGP
OEBEE0S HE H08 155 ©EEE0IH HE 3) LWOAGR 4) LWOAGP
SO TS 8o Aw&? 75. Which word is coded as 'GLIJKUF"?
HQ 2)N 3)P 4) K 'GLIJKUF' re 856 ScHads $s58m 067
70. How many pair of letter are there in the word 1) ENGLISH 2) ENGLAND
'DIFFERENT' which have as many letters 3) ENFIELD 4) ENTRIES
between them in the word as in the ablphabet | Direction (76-78):
series.
'DIFFERENT' e $H&508° FEI0I%, A B
©FBH0IH zé)cﬁeg 65&25?3@?360 06 JBorre S0 '%Q
@éééﬁ@@s EdtH wden AQ? %
1)1 2)2 3)3 4)4 S 8
Direction(71-75) : Forr=1, 3,5, 7,----23 letters
the code letter for the r letter is (r+2) nd | 76 4~ (BUC')=?
letter and forr=4, 6, 8, ----—-- 26 letters, the 11 2)8 3)9 513
code letter for r' letter is (r-2)nd letter. The
code for the 2" letter is 1 st letter and the | 77+ (4 nBHNC=?
code for 25" letter is the 26™ letter. For de- 1)8 2)6 3)7 4)9
coding the reverse process should be fol- | 7g (AnBYUC =2
lowed. 22 2)23  3)25 44
QeSS (71-75):1=1, 3, 5, 7, -—--23 585005
58 ogssnt (rt2)nd egssom §&
BB, S8 T=4, 6, 8, ---26 ©EELELOS
(58 ogssn (r-2)nd ogsswm §5&
FoH5B. DADS EETHES® 25 ©FETHH
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15 8

5 10@3

3

4
79. 31 8
5

1)890  2)2236 3)975

14 6

181201 7|

43540

80.

1)24 2) 25 3) 28 4) 20
Direction (81-82) : Int hese question, relationship
between different elements is shown in the
statements. The statements are followed by
two conclusions.
D)Ifonly Conclusion I is true
2)If only Conclusion I1 is true
3)Ifonly Conclusion I or Il is true
4)If only Conclusion I nor 11 is true
5)If only Conclusion I and II are true
QeSS (81-82):8% (Bods 2y ddrardo egrdore
O8AS (HEHOBH JXPEREWen TraeRs.
1) Ed0d» gécfg:éaéw ] %8 ®andd
2) Edesm ém&ém 11 %8 ®ondd
3) 500 éécg:é;é;a I S 11 58 ©ansd
4) 1508050 11 350 wonds

5) I S8csw 11 550226&633&» Boke K8 @ondd

81. Statement:F > G=H; G>J > K
Conclusions: I) F > K I K<H
I)b 2)c 3)a 4)d

82. Statement:P<Q=R >S>T
Conclusions : 1) T< Q I)R>P
I)a 2)c 3)d 4)e

83. Find the number of days from 26th Januar,

2011 to 23rd September, 2011 (both days
are included).

UNIQUE STUDY CIRCLE 13

&4.

85.

86.

87.

26 23358 2011 Hod 23 ?0?30335 2011 8%
G5 &) S) Doz dod? (B/INJ Vo

Bbod ém@é}é&gc\né)

1)214 2)241  3)249 4)251
The year next to 1990 which have the same
calendar as that of the year 1990 is.

1990 éoéé‘\)éméé BOD 260266%62613 & (Bod
TSt DB?
1) 1995  2)1997 3)2001 4)1992

What angle will be traced by the hands ofa
clockat7:35?

KBasrs0e® H50a%0 07:350 @HBKE ok
Soghe zﬁacé?g &%007?

1° 1° 1° 1°
il 17— 27 fll
D75 Q175 327 4375

The minute hand of a clock overtakes the hour
hand at intervals of 63 minofthe correct time.
How much does a clock gain or loose inday.

KBRS0 2 Swughen (BB 63 ARSHBH
2530 DEPVK)ond a8 B BpaHos®
& KBASPE0 ergiore SPoth Sae SRR Vo

dods?

8 8
54— min (gai 56— min (gai
1) o min (gain)  2) = min (gain)

8 8
53— mi 53— mi i
3) -7 min (loss) 4) = min (gain

How many triangles are there in the following
figure.

& (8o Swos® Ko (Bradne Sowg
EDFAPo0?
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1)10 2) 14 3)12 4)11 Answers figures
88. Which ofthe answer figures given will com-

[4] [6]
5]6] [3]6] B
5

@ (b) © (d

plete the pattern of the questions figure.
X He5net Heswd BoBrPnmre S5rdd

Bswead D DL Do HoDEHKH?

Question Figure Direction (91-94) : Read the following information

carefully and answer the questions given be-

low.

A cube is painted red on two adjecent sur-
faces and black on the surfaces opposite to
red surfaces and green onthe remaining faces.
Now, the cube is cut into 64 smaller cubes of

equal size.

$eSS (91-94) 1 & (808 9D))S Daeardo egrdore

Z B DO ©BAIENH0S HHOH JSTEES0D

(a)

(d) ToeR.
a8 oJ0 @BwE) Bod HEBEOIOL )
89. Choose the Different from the given follow-
ing figure.
& (5808 S8 PYHore &) TP EXoFPdam.

BoiHBd ST, D) Bord F1P HooeHneH
Eé?gé’éééom S oK IdIE. DADD
00 sBHY) Sord ST, & SoHen

h PRI 305 Hostmots 64 %) OF) SEEEH0S
NIRRT
(@) (b) (@ (d) (e) $oddwenre DefBoDTD.

90. Three views of the same cube are given. All 91. How many smaller cubes have only one sur-

face painted.

lect one figure which will result when the cube Sosn .8 Eoop fo e,

1s unfolded. 138 2) 16 3) 24 4) 32
92. How many smaller cubes will have no sur-

the faces of the cube are numbered from se-

28 P08 @) 3 JPJ) Heswen & (8o

face painted.
R0 20K, & FDED DEER$E00S Ile)fed
BordB Hossoen d?
Dok & (Bod TS Q6&? 10 2)4 3)8 416
Question Figures 93. How many smaller cubes have less than three
surfaces painted.
< 3 Sosne S E&) Sofmed Sorh Ko
h 2 ordsmen D?
I I I 1)8 2)24 3)28 4) 48
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94.

Direction (95-96): Study the given information care-

85 (95-96) 1 & (808 9IS Barardo egrdore

95.

96.

97.

How many smaller cubes have three surfaces

painted.
3 Sodnop Joih Ko $odmen d?
1)4 2)8 3) 16 4) 24

fully and answer the given questions.
Point Ais 11 m North of point B.
Point Cis 11 m Eas of point B.
Point D i1s 6 m North of Point C
Point E is 7 m West of point D.
Point F is 8 m North of Point E.
Point G is 4 m West of Point F.

©EAZENH0E [HEHOB SRTEPHK0e T2ERM.
B @) 88 6846° 11 . &rdo&® A S0
B @) &89 11 . &rsos® C Sok

C @) 688 83° 6 . &rdos® D S0
D &) H85508 8 7 . &rsost E S0,
E @) 685 636° 8 . &rsos® F Se.

F &08) $588 838 4 &. &m0t G Sk,
How far is point F from point A.

A Bl 508 F do& &r80&® Seis?

)43 m 2)4m 3)3m 4)5m
How far and in which direction is point G from

point A.

A B8 o Dok 53 G & 638 Qo
ErE0S® Serh?

1) 3 mNorth 2) 5mNorth

3) 4 m North 4) 4m South

In a class of thirty students, mahesh is 14th
from the left and Ramesh is 20th from the right
end. How many students are there between
Ramesh and Mahesh.

30 SHod g)wfgécge» Ko 2.8 SBISE Loorh AES
3D oo& 14 S(;ESO@S‘S, BHR HE 3D o0&

15

98.

99.

100.

205 3(;2606‘9 o, wond & SHISE EHR
$80%» KPR Sogs Ko a‘)mf’?gé(gea Qogyg oE?
1)3 2)2

3)4 4) Data inadequate
Which one ofthe given interchanges in signs
and numbers would make the given equation
correct.

oS )X @ KBS HRed HBA woswk
e kv viled) 3?026@0333 $E0EBeasin KO ©wandd
0H?

16 -8 x16 -2 +4+3=15

1)+and +and3and4

2) xand -and 16 and 4

3)-and +and 8 and 2

4)+and -and 16 and 2

Satish read a book on Sunday. Sudha read
that book one day prior to Anil but 4 days
after Satish. On which day did Anil read the
book.

HOR sOTBHD B HYESND SHHD. Ko
& HVEL0H 06 S6F 84 Swoth el
S5HHSD Hdn HER 68 SPwd 4 Slae
EoRE B0H0. ©0S B> @S e HYESHH

BE0H0?
1) Friday 2) Thursday
3) Tuesday 4) Saturday

From the given three positions ofa single dice,
find the letter at the face opposite to the hav-
ing letter L.

28 P0E BwE) 3 DY) Hevew B 2OASH
B wgrdorr S8R .. I e sokd

©QBEIND EJPodw?
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indint
DL

DA M 3)X Y

25385 HAS

101.

102.

103.

UNIQUE STUDY CIRCLE

Name the scheme launched by the Ministry
of Social Justice and Empowerment for the
welfare of the Transgender community and

the beggars ?
1) SMILE 2) WINNER
3) PROUD 4) VALUE

(ErQBotben HBID alrse Hogo §%0
KRS TFADH0o B DHTEH o8& T

(509005 HEE0 HH?
1) SMILE 2) WINNER
3) PROUD 4) VALUE

India has launched which operation to bring
back its nationals from Ukraine?

1) Operation Yamuna

2) Operation Saraswati

3) Operation Ganga

4) Operation Bharat

&(BonsS %ol & JFel &8A
835050036728 gr8ETFo & SSDVDRS
(@Fr8ododod?

1) o58RS chdwae 2) &8RS Q8BS

3) &5BRS Kore 4) S5BRS er8E
Which state government has lanched an open-
air classroom programme Paray Shikshalaya
(Neighbourhood Schools) for primary and
pre-primary students?

1) Gujarat 2) Odisha

3) Kerala 4) West Bengal

O ToF (Hahdto (FPENE O (H-(2508
Doy 8500 &8 - dowd SREES R rre

16

104.

105.

106.

SoedSo Bgrodfy (S058 ¢ o)l
(@r8ododod?

1) Heoes 2) a.&ap

3) s8¢ 4) $3y% BoreS
Which country will host 21st World Congress
of Accountants (WCOA) 20227

1) Brazil 2) Russia

3) India 4) China

215 zééeg soRR ©d wfose)) (WCOA)
2022 8 O B¥o w8&F0 BHF0s?

1) @es 2) 53x5

3) er8S3o 4) I

Russia has withdrawn from which among the
following UN bodies?

1) UNWTO 2) UNDP

3) UNSC 4) UNGA

83k 8ot UN %0g&’ B0 ol &°0R0H?
1) UNWTO 2) UNDP

3) UNSC 4) UNGA

Choose the correct statements regarding
Economic Survey 2021-2022

1) The central theme of Economic Survey
2021-22 is the Agile Approach.

2) The Economic Survey has predicted 8 to
8.5% GDP growth in Financial Year 2022-
23.

3) India is the 3rd largest start-up ecosystem
in the world after US and China.

D1&2 2)2&3
3)1,2&3 4) None of these
©BE Ty 2021-22 & Sowohod IBX
'58553050263 DoH8%08?

1) ©0% 35 2021-22 Bo¥) BFS ©odo ABS
O@8S

2) eB¥ $Ty 2022-23 0¥ BodEBos® 8
ol 8.5% GDP a0 oz Sdob.

3) US 8o o Sos gPE8Bd0 [HHosos®
35 08 FYH SogHOH BySY

8BS $Srerard) oHstod?

1) 1 S8cs» 2 2) 2 HHBas» 3

3) 1, 2 0Bcs» 3 4) bzt
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107.

108.

109.

110.

I11.

DRDO successfully tested the Solid Fuel
Ducted Ramjet (SFDR). The range of this

technology is
1) 350 km 2)250 km
3) 150 km 4) 50 km

DRDO deschdodorr FO& rgohs &36
ooE¢5 (SFDR)S 56809006, & ) 568
Qoes?

1) 350 &.. 2) 250 8.8.

3) 150 &.8. 4) 50 8.8.

India's largest Electric Vehicle (EV) charging
station inaugurated at

1) Jaipur (Rajasthan)

2) Mumbai (Maharashtra)

3) Chennai (Tamil Nadu)

4) Gurugram (Haryana)

PEEBEH 08E 088 38°8S (EV) 5ok
éo‘ﬁ% QS (PEodoSdod?

1) 846 (ccesxS)  2) w0 (oo
3) BF) (BF) 4) HB(PSD (FPTge)
Who is the author of the book "The Maverick
Effect'?

1) Harish S. Mehta

2) Nithin Kamath

3) Shashank Randev

4) Srikanth Velamakanni

“8 3068 cD'E;Jg’ DIE BSowe IHB?

1) 0% AR, e 2) IBS 08

3) 3208 TPodS 4) 508 B
Padma Shri Binapani Mohanty passed away
recently. She was a/an mar

1) Politician 2) Lyricist earch

3) Writer 4) Journalist

558 DD Iwirod adse HEBomto. v
e ——-

1) oezdah meahroeen

2) Fere BSo0s

3) BSanes

4) &6&@@

Consider the following pairs of major events
and the Era they are associated with:

17

112.

113.

Event Era

1. First reptiles Paleozoic
2. Homo Sapiens Paleozoic
3. Extinction of Dinosaurs Mesozoic

Which of the above pairs is/are correctly
matched?

1) 1 and 2 only 2) 1 and 3 only

3) 2 and 3 only 4)1,2and 3

(8ol (Dprd Dogherde oo HB5Hn @
©0H0VES APl HBKBoLoE?

1) 308 $OJFen - OIS

2) JVRP DPADHT) - DO ePans

3) B ©@o880NNBSE0 — SoP epons
28 DEYY) 2o & $or $oVDH?

1) 1,580 2 2) 1, o83

3) 2 HHBas» 3 4) 1, 2,580 3
How will you identify/detect an exoplanet?
1. It has a wobbly orbit.

2. It orbits a star within our solar system.

3. It can be detected using radio waves.
Select the correct answer using the codes

given below.
1) 1 and 2 only 2)2 and 3 only
3) 1 and 3 only 4) 3 only

S PR dee HES?

1) a9 Jodo 89 EEg0 5OA €0enob.

2) 38 I Y zé?gzéééﬁ(‘o a8 SFEo heap
BBNHE0H

3) BRBr SSomod &SBrhod &ID

8085,

8BS D) AoHEPod.

1) 1, So8cs» 2 2) 2, &bosw 3
3) 1, 508k 3 4) 3, SrE

The oldest rocks in the world can be found in
which ofthe following regions?
1) Western Australia  2) Southern Europe

3) North America 4) Eastern Asia
(%0508 HrEs oo Bod & (@rosos®
BREH)?

1) &8y @L‘é@oﬁaﬁ 2) &8eo oS

3) 685 o 4) Er8) S
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114. Which ofthe following kinds ofrocks display

115.

Karst topography?
1. Limestone 2. Gypsum
4. Rock salt

Select the correct answer using the codes

3. Dolomite

given below:

1)1,2,3and 4 2) 1 and 4 only

3) 2 and 3 only 4) 1, 2 and 4 only
8od Ssco Bodt & s°F) A
585852087

1) o)porow 2) 8o

3) oS 4) o8 &y

Bod SCoH &DBrA0D XHBD SeEEaeR)
DoH8%0&?

1)1, 2,3 5080w 4 2) 1 Hdasw 4

3) 2 HHBas» 3 4) 1, 2, SHdasw 4
Earth's atmosphere consists of several layers.
Consider the following statements with
reference to it:

Assertion (A): Troposphere is the hottest layer
ofthe atmosphere.

Reason (R): It gets more heat radiation from
below Earth's surface, as compared to other
atmospheric layers.

In the context of the above, which of the
following statements is correct?

1) A is correct, and R is an appropriate
explanation of A.

2) Ais correct, but R is not an appropriate
explanation of A.

3) Ais correct, but R is incorrect.

4) Ais incorrect and R is correct.

D rgarggo (A) €8RS @I 6
TEHEe08° o808 388,

& (R) : 26 888 ararsden PE0&® PO
grdd BwE) D000 (Bos Lol BN 6Q

D8Bed)) rotHEhrod.
1) (A) 800 (R) & Both K50 5B
(R)(A) % 605 D55
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116.

117.

2) (A) S8 (R) en Both @350 =2 (R)(A)
% 9B Db S

3) (A) &350 (R) evaedsdsson

4) (A) oa3550 (R) argd8m

Consider the following statements :
Assertion (A): Warmer air will always have
more moisture than cooler air.

Reason (R): The capacity of air to hold
moisture in the form of water vapour is related
to air temperature.

In the context of the above, which of the
following is correct?

1) A is correct, and R is an appropriate
explanation of A.

2) Ais correct, but R is not an appropriate
explanation of A.

3) Ais correct, but R is incorrect.

4) Ais incorrect, but R is correct.

D@yBarEgo (A) : I ™0 AQHDEP SO
go8 aéa&zé B0 EOA Sotnod.
%9 (R) D8 ©98 8rdos® 80 ¢od

md 5o SEEHESDH Do20H0D0s.

1) (A) %80 (R) e Both a0 065
(R)(A) % 25630 D58

2) (A) S8 (R) en Both @350 =2 (R)(A)
% 9B Db S

3) (A) 350 (R) evaeddsson

4) (A) o5355» (R) arh58m

Consider the following statements regarding
drought:

1. Meteorological drought is caused by a
marked decrease in rainfall.

2. Agricultural drought is caused by insufficient
rainfall to support crops.

Which of the above statements is/are correct?
1) 1 only 2) 2 only

3) Both 1 and 2 4) Neither 1 nor 2
S50 HHB0D &5 [BoB (HEeSD HBKBOBOE?
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118.

119.

1) Eﬁté@%éo Keadadore Sfto g TS5
S D)8,

2) HoLrod Hde 2560@1’50 BEDESE0 IS)
26?325.3"0‘53 EBH ABHEHOB.

2 RDofes® D& J[X6?

1) 1, S 2) 2,575

3) 1 o805 2 4) 1 Soe 2 =5
Match the following trees to the type of
climate they are found in:

Trees Climate

1. Deodar A. Himalayan moist

2. Sandalwood B. Tropical deciduous
3. Rosewood
4. Oak D. Temperate evergreen
1)1C,2A,3D,4B 2) 1A, 2B, 3C, 4D
3)1D, 2B, 3A,4C 4) 1B, 2A, 3D, 4C

C. Tropical evergreen

2385 0B0H0?

edae-1 edae-2

D) BHE 1) Srsrech B

&) Soido 2) éo“sgzﬁaotﬁe eéé)ovéi*)

) B°EHE 3) eiole I8
5eB¢

&) &8 4) ﬁéa%%so:% D8
5B

1) 9-3, -1, d-4, &-2

2) -1, 8-2, »-3, &-4

3) 9-4, H-2, d-1, &-3

4) 9-2, H-1, d-4, &-3

Soils with high pH are usually treated by

adding

1) Lime (Calcium carbonate)

2) Gypsum

3) Sulphur dioxide concentrate

4) Nitrogen dioxide concentrate

@68 PH ¢ Soob Bod a2 3 Sonio
TRO° HONDTL?

1) 2o (oo ?6’2}55)

2) 8o

3) g é@q)g 8 €85

4) g %S 3 @B
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120.

121.

122.

123.

Which of'the following regions is known for
'frontal cyclones'?

1) Tropical regions

2) Equatorial regions

3) Polar regions

4) Mid-latitude regions

Bod &St O (@roso “Fotrd PETD” %8
Bodod?

1) &3 oo (@Fozren

2) ol Ber (Frosoen

3) &) (FPozeen

4) S5y — ©grod (@Pogeen

Operation Flood refers to:

1) Use of preventive measures for flood
devastation

2) A study about floods

3) Dairy development for increased milk
production

4) None of these

SBRS B8 HOY ErOK0?

1) 588 K)Césoéo &80 dardes 1‘56?3@ -slevvitele)
2) HB&e @65?30‘63260

3) are 6&)8 Doheadd Tond &92“,)25@%

4) Db

Which of the following pairs is correct?

1) IDBI Short-term financing

2) NABARD Industrial financing

3) RBI Long term financing

4) RRB Dispensing rural credit

od aded® O $BSH?

1) IDBI - &5y 5098 paedyoh

2) erd - BoBRADS pyoh

3) RBI - 685208 paeR)of

4) RRB - (reévees amereds Hodd 38008
Consider the following:

1. Market borrowing

2. Treasury bills

3. Special securities issued to RBI

Which of these is/are components(s) of
internal debt?
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124.

125.

1) 1 only 2)land2
3) 2 only 4)1,2and 3
(Bod B HBKBoBS0E?

1) EﬁPBZTéS_ 200830

2) (8226 Depen

3) ©6.8.0. 8 erd Sohads (HEE DErBden
HBS® Ho ©OSBE w0 ) Ferio?

1) 1, SmEs 2) 1 83502

3) 2, S 4) 1, 2, £H835» 3
Of these which is/are the most essential for
proper development of an industry?

A. Infrastructure

B. Skilled manpower

C. Finance

D. Raw materials

E. Latest sophisticated technology

1)A,B,C,D,E 2)B,C,D

3) Only E 4)A,B,C,D

Bob oRS® D6 SOWDH ©hHRE
©FGHIETH60?

1) $POE H%oarasren

2) BHeago EOAS P55

3) )

4) So& B’Jmccge»

5) @rer @hardd JPoSHES

11,2 84,5 2) 2,8, 4

3) 5, SrE@ 41,2 3,4
Consider the following states:

1. Gujarat 2. Karnataka

3. Maharashtra 4. Tamil Nadu

The descending order of these states with
reference to their level of Per Capita Net State

Domestic Product is:

1)1,3,4,2 2)3,4,1,2
3)1,3,2,4 4)3,1,4,2
Bod orlgpe HBKBoBo8?

1) Heoes 2) Sopeos
3) zﬁ;gﬁm@ 4) SEE

B VBB ooy B3BrE)® Jand  Koa0HoD
& m@@éﬁs‘{?e@ (Bsoo?
11,3 4,2 2)3,4,1, 2
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126.

127.

128.

3)1,3, 2 4 4) 3, 1, 4, 2
Consider the following liquid assets:
1. Demand deposits with the banks
2. Time deposits with the banks

3. Savings deposits with the banks
4. Currency

The correct sequence of these assets in the
decreasing order of liquidity is

1) 1-4-3-2 2) 4-3-2-1
3) 2-3-1-4 4) 4-1-3-2
Bob O8E o HBNBoBE?

1) 83'°§O§3€)§8 &Sm0l &areiy

2) ersoHes® 8% aareey

3) 8J'°?SO§DEJ§S 7505')08\) &reen

4) éBﬁb

BH58 S EHos® ke $BY EHo?
1)1, 4,3, 2 2)4, 3,2, 1
3)2,38 1,4 4)4, 1, 3, 2

What is the annual rate aimed in the Eighth
Five Year Plan.

1)5.6% 2)6%  3)6.5% 4)7%

DIDEBD HoSB8, HerdEs® o Bew Jos?
1) 5.6% 2) 6% 3) 6.5% 4) 7%
Consider the following statements:

1. The Accelerated Irrigation Benefits
Programme was launched during 1996-97 to
provide loan assistance to poor farmers.

2. The Command Area Development
Programme was launched in 1974-75 for the
development of water-use efficiency.

Which of the statements given above is/are

correct?
1) 1 only 2) 2 only
3) Both 1 and 2 4) Neither 1 nor 2

Bod (BB H0KBoSoE?

1) 3 BHod He H5BoHo ©0BOTOLE
1996-97 % JIHS08F0S D8 FSvdse
BRBramre seEyEo (@rdodosadod.

2) 08 NBrro ©PHB %o 1974-758°
EXrol BXFr TS Iooel (TS
(BodoSadod.
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129.

130.

28 ad)d EHoed® d& JJX6?

1) 1, (& 2) 2, Sw(BD

3) 1 o805 2 4) bzt

In the context of which ofthe following do
you sometimes find the terms 'amber box, blue
box and green box' in the news?

1) WTO affairs

2) SAARC affairs

3) UNFCCC aftairs

4) India-EU negotiations on FTA

Bod &S D 260(56?3065 DB §°Q) G wond
&), ap ey $Hock (S &8y ol Hured
B FPotrSn?

DHWTO &gdestoren

2) .3"527 Sge9e5tTren

3) UNFCCC &g5estoren

4) FTA® er8sasdo E $%)e0

Match List-1 with List-II and select the
correct answer using the codes given below
the lists:

List-1 (Term)
A. Fiscal deficit

List-1I (Explanation)
1. Excess of Total
Expenditure over
Total Receipts

B. Budget deficit 2. Excess of Revenue
Expenditure over
revenue receipts

3. Excess of Total

Expenditure over

C. Revenue deficit

Total Receipts less
borrowings

4. Excess of Total
Expenditure over

D. World Bank

Total Receipts less
borrowings and
Interest Payments

1) A-3; B-1; C-2; D-4

2) A-4; B-3; C-2; D-1

3) A-1; B-3; C-2; D-4

4) A-3; B-1; C-4; D-2

21

131.

132.

2388000 ?

edae-1 edee-2

Q) @5?.6?383’5&)3 1) oo 25?30‘530 goé3
D oo Bisoen

&) aagéﬁ Shew 2) stradh Hosrd8
00D BALKRg Ly

) 65)2630?3 Shen 3) Jwgo 25?30‘530 goé3

D& Fogo Bisoen
BE)s Loggeen

4) Indo Sh%ve EoB
AENS InBo PBY)
S Goemen SO
26% BOoHen

1) 9-3, -1, »-2, &-4

2) -4, -3, 2-2, &-1

3)-1, -3, 2-2, &-4

4) 9-3, -1, 2-4, &-2

Which one of the following is the correct

&) (DDotergosd

sequence of the given substances in the
decreasing order of their densities?

1) Steel > Mercury > Gold

2) Gold > Mercury > Steel

3) Steel > Gold > Mercury

4) Gold > Steel > Mercury

SRR Sorgre FoE5E SHEZ) Eoos® &
Bod 8BSt D& ¥BH?

1) 68y > aPHB00 > worrdo

2) @orrdo > FPSBH0 > GE)

3) &8 > worrdo > P88

4) worro > GEy) > A&k

Assertion (A): Radio waves bend in a mag-
netic field.

Reason (R): Radio waves are electromagnetic
in nature.

1) Both (A) are (R) are true and (R) is the
correct explanation of (A)

2) Both (A) and (R) are true but (R) isnot a
correct explanation of (A)

3) (A)is true but (R) is false

4) (A) 1s false but (R) is true

CHAITANYAPURI, HYDERABAD




UNIQUE STUDY CIRCLE, CHAITANYAPURI, HYDERABAD. Ph: 9492459622

UNIQUE STUDY CIRCLE

133.

134.

D@)BarEgo (A) : BER> SBorren &90‘5351’2705
é@éoé’s HoA Goérow.
& (R) : B&@Br S8orren DEgEcHI0S

é(gepvéo EOA Goerom.

1) (A) %80 (R) e Both a0 06
(R)(A) % 260 D5

2) (A) S8 (R) en Both @350 =2 (R)(A)
% 9B Db S

3) (A) &350 (R) evaeddssm

4) (A) oa3550 (R) arhd8m

Consider the following phenomena:

1. Size of the sun at dusk

2. Colour ofthe sun at dawn

3. Moon being visible at dawn

4. Twinkle of stars in the sky

5. Pole star being visible in the sky

Which of the above are optical illusions?
1)1,2and 3 2)3,4and 5
3)1,2and 4 4)2,3and 5

Bod é@ﬁsﬁo‘ﬁr@iﬁa $58K5Bo0S508?

1) éom?g JS&ocHost 263*363?320 HBKrEs0

2) Bgardd erdnd {38yl Sord

3) B8 2P0 WHo(Ehi EAdoWEo

4) w2808 SEEro HHD

5) (0 SF|&o ssedod® Qoo

2 T8 g} Fen dD?

1) 1, 2 SoBoiw 3 2) 3, 4 HBosw 5

3) 1, 2 Hdcsw 4 4) 2, 3, b 5
For reproducing sound, a CD (Compact
Disc) audio player uses a:

1) quartz crystal

2) titanium needle

3) laser beam

4) barium titanate ceramic

B HIBEY BoHT8 al 1.8, (520§
&%) 8P ROHES® &ITPACDHIH?

1) 55, 885

2) BEFIAHo K

3) a8 Hoeo
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135.

136.

137.

138.

139.

140.

4) BochHo BerIes LT°wE

The internal antenna of a transistor set is made
0f1983

1) Iron 2) Ferro-chrome

3) Copper 4) Alnico

(SRS ¢ Go¥) @088 508y &s8®
S5 Boha&ob?

1) a0 2) 2EES

3) oof 4) o

Which one of the following is used as an
explosive?

1) Phosphorus trichloride

2) Mercuric oxide

3) Graphite

4) Nitroglycerine

Bod A% D6 e Sag o
GIDPNDE0?

1) >80 (BEBE  2) 85 @B

3) (3¢5 4) 31 A88

Bile is secreted by

1) Liver 2) Gall bladder

3) Kidney 4) Pancreas

&0 &2 oxo° ({HoSeatHEH0s?

1) s*80%0 2) dapdaho

3) Saregdoo 4) 552530

How do most insects respire?
1) Through skin 2) Through gills
2) By lungs 4) Bytracheal system

rer dbseen doe TR0 ?

1) 7156&0 To° 2) SndHe wo°

3) 82088 TP 4) rafgéaw%‘ égéé oxo°
The major component of honey is

1) glucose 2) sucrose

3) maltose 4) fructose

BIS® Gotd (Hed geifo (35%)

1) Kp&ss 2) oS

3) & &E 4) 8’

Match List-I with List-II and select the
correct answer by using the codes given
below the lists:

List-1 List-II
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141.

142.

A. Malaria 1. Bone marrow
B. Filaria 2. Brain

C. Encephalitis 3. Muscle

D. Leukaemia 4. Lymph node

5. Blood Cells
2) A-5 B-4 C-2 D-1
4) A-5 B-4 C-1 D-2

1) A-5 B-3 C-2 D-1
3) A-4 B-3 C-5 D-1

238 HEHE0?

ardar-1 erdTe-2

D) LS5 1) D08 Kogg

) 28805 2) &

R) DD ) B 3) BordEw

&) en8ase 4) 8580 Beaod
5) 88 Sewen

1) -5, H-3, -2, &-1

2) -5, H-4, »-2, &-1

3) -4, H-3, »-5, &-1

4) -5, H-4, »-1, &-2

Under which one of the following Acts, was
the Communal Electorate System introduced
by the British in India for the first time?

1) Government of India Act, 1909

2) Government of India Act, 1919

3) Indian Councils Act, 1861

4) Indian Councils Act, 1892

Bod & Sepo [Hse8o, FrESRIos® ZntBIomnr
@ég & o8 ézéoovézée‘f aeéi_(%éf S gSgéo
BSEep?

1) gr88 (50 &0, 1909

2) gr88 (Hgh&y e, 1919

3) 208aHS TYS) oir§, 1861

4) 20805HS TYS) or§, 1892

‘Who among the following moved the following
moved the "Objectives Resolution" in the
Constituent Assembly

1) Sir B.N. Rau

2) Dr. B.R. Ambedkar

3) Jawaharlal Nehru

4) Rajendra Prasad

Bod T8® J5B TPe500 Seys® “o88a)
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143.

144.

145.

146.

Besergidd” & @3%33@;63?

1) 38 8.98.0°5

2) w. §.e8. @oB®)5

3) e5seBerd I(Fwe

4) ool (HFE

Which of the following Articles of the Indian
Constitution deal with citizenship in India?

1) Articles 333 to 337

2) Articles 17 to 20

3)ArticlesSto 11

4) Articles 1 to 4

8 mw?goﬁoésé{) Bob eegéegéﬁ P8BS
PEIE0 ©0F0 GO0k,

1) ©056 333 08 337 H6%

2) ©BES 17 %08 20 $5%

3) ©BES 5 %08 11 H5%

4) ©BES 1 %08 4 HBH

Which one of the following is not covered
under Article 20 of the Constitution of India
1) Ex post facto laws

2) Preventive detention

3) Double jeopardy

4) Self-incrimination

Bod &S D& grses ovav?goﬁo@% 885 20
80 856 BoHhadks?

1) 2§ Eb‘sé @f’%i Sepen

2) $308s &8I

3) 6@00“9) 3% DBosEo

4) 230 Jo6%oee

The Fundamental Duties in the India
Constitution are inspired by the Constitution
of:

1) Japan 2) Australia

3) Erstwhile USSR 4) Canada

g8 maavéoﬁoé’sﬁ) (@eE0E Deoen » BE
oregorio K0d (DBes Sromeon?

1) 23S 2) SROET
3) &Sy USSR 4) 33

Under Article 368, the Parliament has no
power to repeal Fundamental Rights because
these are :
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147.

148.

149.

1) Enshrined in Part III ofthe Constitution
2) Human Rights

3) Transcendental Rights

4) Part of basic structure of the Constitution
©BES 368 [H5°80 (FPHWE FEpe B DD
OHSPBO FPER0LH B, JoEoE ©?

1) U%‘goﬁoé% 3°§ 3 & PoHHESDE0k.
2) E75S L&

3) ©w8oBokH SPENen

4) Teg0ls (@PEE 30“3&‘60638 Faatel

In a parliamentary form of government,
ministers are appointed by:

1) The head of state at his discretion

2) The head of government

3) The head of state on the recommendations
ofthe head of government

4) The Legislature

FEIo0wd ($goE08?, Ho@oen H6F
Qo otertieEedn?

1) 3538 ©dIHFCo

2) (PEhdk ©BHS

3) @’J@@ﬁg&ﬁﬁé RFE)OD BOIS

4) 33335

In order to examine thoroughly the various
the
Administrative the Reforms Commission of

issues in centre-state relations,

India constituted a study team under:

1) A.K. Chanda 2) Mahavir Tyagi

3) K. Santhanam 4) M.C. Setalvad
_550@5 - U°‘@ Soogrestd DS 2626365@263
gomorr $56800T0%808) g8s SBoT®
doyBeee EAS & (Bod G500 )0
DTED Zob.

1) 9.3. Sowe 2) 5058 g

3) 8. Joz*do 4) 0.2. T“oée}ﬁgﬁ
The power of the President of India to issue
an ordinance is a/an:

1) Executive power

2) Legislative power

3) Constituent power

4) Quasi-judicial power
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150.

I51.

152.

03T 2 DA, S o°gH8 Ko
©HE0?

1) své?g K)O“’(Sé/ﬁg ©dHsE0

2) @IS vfHzeso

3) orezgont $8

4) aPEE TOHDHERS wEB0

Which of'the following cabinet committees is
chaired by the Union Home Minister?

1) Parliamentary Affairs Committee

2) Economic Affairs Committee

3) Political Affairs Committee

4) Appointments Committee

Bod &S D SENARIA] E088 ol 3mroH0d
©BES SEP?

1) FEDoed Sgditore Sné

2) 688 Systoro S

3) crasdad Sgditore S

4) doirEee D

The consolidated Fund of India is made up
of

1) the excise duty and the income tax

2) the income tax and the corporate tax

3) the money raised from all loans

4) allrevenue receipts of the Government of
India

E)0E8E Jof @y moddr FIS
Ersrobodadod?

1) 38y w00 HBCIH STAHLH HXy)

2) sTPcHD Hy o BB Hy,

3) &) e Hod 8BNS e

4) g8 (Hhd0 @nE) @) Trad Sdhen
The consultative committees are constituted
by which ofthe following

1) Speaker ofthe Lok Sabha

2) Chairman ofthe Rajya Sabha

3) Ministry of Parliamentary Affairs

4) Cabinet Secretariat

é:é(\)eée%cﬁ Eoden (808 8BS 3D apeld
Slojlielovsiionys

1) 88688 856

2) oPezgdgs é(ﬁéﬁ
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153.

154.

155.

3) FBEIoed JSSore Hoo@S T

4) sA3E JBHOE

Who of'the following acts as the ex-officio
Secretary - General of the IPG?

1) Secretary - General of the Rajys Sabha
2) Secretary ofthe Parliamentary Affairs

3) Speaker ofthe Lok Sabha

4) Secretary - General of the Lok Sabha
Bod 08° %% IPG @) 25 e
B8 w$8ST™ S5O0 ?

1) oresgdes B8 us8S

2) FEHoed HydsPore s°E50)

3) &8 g5 886

4) &5 %85 DL w55S

In which of the following bodies, does the
Chief Minister ofa State hold membership?
1) National Integration Council

2) Governing council of NITI Aayog

3) Inter-State Council

4) Zonal Council

Select the correct answer from the codes

given below:
1)1,3and 4 2)2 and 3 only
3)1,2,3and 4 4)2,3and 4

8o &S D éo{gé‘s, UD@ Sogygoo(@ KafsExy
80N aant?

1) SRS aoé%@%&’lﬁ é”&beﬁ

2) 08 e@rh ol $0Kd

3) 2008 - JET FPS

4) &3S xS

880 H008 KB JHrErard) JowHstod?
1)1, 3 &dosw 4 2) 2, 8% 3

3)1, 2, 308504 4) 2, 3 5005m 4
Which one of the following provisions has
been left to the will ofthe State Governments
in the 73rd Constitutional Amendment Act?
1) Providing reservation to the Backward
Classes

2) All posts at all levels to be filled by direct
elections
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156.

157.

158.

3) Reservation of seats for SC/ST in
proportion to their population

4) Reservation up to 1/3 seats for women in
Panchayats

73 orergon $58es iﬁ%o@s 808 Jeoddest
OB ooy (HadTe 9P $6D Sahwdod?

1) S208a285 S8KHo% 6&3350“1263 é@gofﬁc‘ﬁo
2) o .3(;033@68(‘0 o) QoD (BHEE IS
Toe 350 DA

3) AN.D. /[ N.B. 0% 770 wxrgr S@g@s ?og
6&6(50‘35

4) Homronded® HIrdodH 1/3 dey 8%
6&3(50“45

This river rises near Rohtang pass in Kullu. It
drains the western slope of Pir-Panjal and the
northern slope of Dhauladhar Range. Name

this river.
1) The Beas 2) The Sutlyj
3) The Indus 4) The Ravi

Bod T & $& Hend® SSoR FB KB
[©58°308. H0aw HE Hoars TE) H8)
T BN TSRS (BB D) eFSarentd
Benhdo?

1) HAPS 2) $8E

3) oo 4) oo

The total forest and tree cover is nearly what
fraction of the geographical area of the

country?
1) One-third 2) One-fourth
3) One-half 4) One-sixth

ddo By FAPE (@rodos’ Iwdo wid
$8asw Hgro Mo wrTr) Aod grro?

1) Se&lS0 2) 29N Ho&

3) Jd5o 4) 885 Hoeh

The climatic or soil condition beneficial to
Sandy loam the growth of both rice and wheat
iy

1) High rainfall and a soil that can retain water
2) Moderate temperatures and a soil that is
well-drained

3) Low rainfall and a sandy loam soil
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159.

160.

161.

162.

4) None of the above

$58, F5s Hotrerss IS TPBeHVBed K)@?gééae»
1) 68 Eﬁé@f’éo 8050 HBJ ey SERNO)
2) DBEID éﬁgmée:o $805w DB FHde Jo
3) 85 zété@%éo $oB350 BRES® Er&Y &%
S

4) 3o

Which of the following techniques for soil
conservation is best used in coastal and flat
dry areas for soil conservation?

1) Sheltered belts
3) Contour barriers ~ 4) Contour ploughing
So $08%nS Bod FS® BV g B
BHTK?

1) ?qgé Bege» 2) BB 2552631’0‘530
3) éaﬁé@é’é 28058 4) 33;5"%@63 oo
Which of'the following is known as brown

2) Terrace farming

coal?
1) Anthracite 2) Peat
3) Lignite 4) Bituminous

8od QE® BAD (B°SES woerds?

1) sol@ed 2) &¢5
3) OMES 4) DenHIH

In India, which ofthe following regions have
the most developed canal system ofirrigation?
1) Central India

2) Southern Deccan Plateau

3) Northern Plains

4) North-Eastern India

FESBI0S Bod (@rozred® DO wdd
&9&259)((:‘3 ZobS OB Jsr8e éegzé(g:@ g9A
&ob&?

1) &gy Gr8SBI0 2) 58 BES DM
3) &85 Powrare 4) By GBS0
Tea 1s produced in which of the following
regions of India?

1) Terairegion bordering Nepal

2) Keral and Karnataka

3) Assam dooars

4) Cachar Hills

5) Odisha
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163.

164.

Select the correct answer using the codes
given below:

1)1, 3 and 4 only 2) 1,2 and 3 only
3)2,4and 5 only 4) All of the above
PESBES® & (8od (Frozres® Baird (&)
&5B ©HH0H?

1) S>S é@@eﬁgé’s &%) Boedo (@Podo

2) 88¢ B35 Epéol

3) 5056 &

4) e.&3°

BrHd aNRED o 63DBrhod (Eob
SR AL DoHEa.

1) 1, 3 &obos» 4 2) 1, 2, HBas» 3

3) 2, 4 L85 5 4) 239

Which of'the following is /are not footloose
industries?

1) Sugar industry

2) Cement industry

3) IT industry

4) Aluminium industry

Select the correct answer using the codes
given below:

1) 2 and 4 only 2) 3 and 4 only

3) 1,2 and 4 only 4) 1,2 and 3 only
Bod 8BS HrSars HOED 5296?

1) $8)8 $63H 2) Dot HBFD

3) 08 DB 4) ©ergAcDo HBEH
560t 6S3BrAod DS SSrEEe I
DoH8%0&?

1) 2, o065 4 2) 3 Hnbosw 4

3) 1, 2 HBosw 4 4) 1, 2 HBcs» 3
Which of these tribes practice transhumance?

1) Gujjars 2) Bakarwals

3) Bhotiyas 4) Gaddis

Select the correct answer using the codes
given below:

1) 1 and 3 only 2) 1,2 and 4 only

3) 4 only 4)1,2,3and 4

& BKOS® 5% (S &’mgﬁaﬁ(\)b @8;5?3?03_363?
1) ﬁ)gtﬁg 2) a;écige%

3) SPBcSen 4) ﬁée»
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165.

166.

167.

60 6I3Brhod DS SdrEEITR
DoH8%08?

1) 1, &8s 3 2) 1, 2, Hdasw 4

3) 4, SrE 4) 1, 2,3 H605%0 4
To stabilise India's population, which of the
following is the prescribed Total Fertility Rate
(TFR)?

1) Anumber between 3 and 4

2) Any number between 1 and 2 only,
provided the influx of population is stopped
3) Anumber between 2 and 3 only, closer
to2

4) No TFR range can stabilise natural
population growth rate

ePEEBE 23°8TK0 %éé&oiﬁm&)g 808 &S
1A @é%oiﬁa;&:é oo HozrtEB Tew (TFR
) ?

1) 3 o8aso 4 gy Dogy

2) 1 S0B8c5» 2 e AR Loz S(B30 asege
Baesro eARBonSeonE

3) 2 03w 3 25365?3 &) éospeg E§J°L§§3) 2%,
SRS 06000

4) TFR $5068° Db dires waege 5)E00
S ay

Harappans were aware of and practiced
which ofthese number systems in their weights
and measures?

1) Binary system

2) Decimal system

3) Hexadecimal system

4) Both (1) and (2)

ErQEen HOT Eoded K$opofod) BT
oen &8 (8ob @ Koy Spen BeooE
©5B80weS?

1) @56 8555 2) $50% 55

3) TEBIHS VHH  4) 1 HBAW 2

In the early vedic period, Visu refers to .

1) Basic unit of political organisation

2) The leader of grama

3) Group of villages
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168.

169.

170.

4) None of the above

Frdy Iseeod® D’ HAD BOHEH?

1) orescho 0 EnE) (EPEE chrRe

2) (P> PAHEE

3) (e ddarsseo

4) 23D =%

With reference to Ancient India,
Mahajanapada rulers imposed taxes on

1) Crops and crafts persons only

2) Goods, crops, herders, hunter gatherers
and crafts persons

3) goods and royal services only

4) hunter gatherers and crafts persons only
D8 s B Peden rESEEEoSt 58D
JNen Do

1) Hoesen 5B I8 Hide 5o So@D
2) Hotren, HHY© seHen, HNDe, 3&3(\?%{%},
38 e ARoD

3) HrE) & TooHS HcRBeP Sr@DH

4) Beorrt), Tege TP SREDH
Lokayatas believe that

1) everything is predetermined

2) a human being is made up of six elements
3) death is unreal and human beings continue
to survive in ethereal form after death

Select the correct answer using the codes

given below:
1) 2 only 2) 1 and 3 only
3)1,2and 3 4) None of the above

SechEen (§od A Sozeso?

1) 585 Swotore D awoBeiiod

2) S5 @ Sreoseos® 63"’@"0@0?.53)63(;(‘33.
3) B0 @arYNo

1) 2, S 2) 1, 58k 3

3) 1, 2, £805%» 3 4) bzt

Which of'the following were not depicted in
Buddhist Stupas?
1) Jatakas

3) Paradakshas
Choose the correct answer using the codes

2) Toranas

given below:
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171.

172.

173.

1) 1 and 2 only 2) 3 only

3) 1 only 4) 2 only

Bod SE° Db FY Kpred® DBoSaES.
1) eeSsren 2) &%ezen

3) $BBH

8BS D) AoHEPod.

1) 1, $H805%0 2 2) 3, S

3) 1, SrE 4) 2,57

Among the following, which of these sites
were related to the Mauryan Kingdom?

1) Sopara 2) Meerut

3) Sanchi 4) Dhauli

Select the correct answer using the codes
given below:

1) 1,2 and 3 only 2)2 and 4 only

3) 1 and 3 only 4)1,2,3and 4

Bod Q&8 B85 JP(Eeegg08 $502060DID
d?

1) &aroe 2) &oies

3) Jrod) 4) g©

8BS D) Aol

1) 1, 2 &8s 3 2) 2 SHBos» 4

3) 1, Hdas» 3 4) 1, 2,3 S6c5» 4
Hathigumpha Inscription in a Jain cave at

Udaigiri hills can potentially give us the details
about the reign of

1) Kharavela 2) Vasudeva

3) Chintakara 4) Nandivela

&BADNG SPofleo I8 e 83 St &y
Se8iHosr FH50 @ FEHY FoTe Hdod
DHTPOD ©oRONKLH?

1) grdZentd 2) TGS

3) Do&ses 4) 3063

Zabti or Bandobast system during the reign
of Akbar is related to

1) The land revenue system

2) The annexation of enemy terriotories

3) The Mansabdari system

4) The welfare of travellers

o%)5 Foss® ad Sor wosladn IRISES
K502050DI8?
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174.

175.

176.

177.

1) ¢BSmy £558  2) ¥ ahrario Do
3) Do aﬁegaﬁé 4) (HSredde éoézﬁ)o
What is described by contemporaries as
'Karnataka Samrajyamu' was defined by
historians as

1) Vijayanagar Empire

2) Kadambas adn Western Ganges Dynasty
3) Bahmani Sultanate

4) Badami Chalukyas

Speod J(eireyg SO Toezgen dD?

1) De2cHINE Sr(Eesgo

2) BoierR HBAn (@Pa)Es Korrdd Trasdodo
3) @ (a0

4) eredd af’%%éaege»

Among the following, who was the propone
tofthe 'Bhakti Cult' from West Bengal?

1) Chaitanya Mahaprabhu

2) Ramanujacharyulu

3) Ramanand

4) Kabir

Bod 0&° $3)kn BorrS Hod “GEES” @o¥)
DBFEEE IS55?

1) BEsy B 2) ToEeRER Tt
3) ooEmS08 4) 888

Mugqgadam in Medieval India was

1) a cultivator

2) the village headman

3) an agricultural labourer

4) avillage elder

EvlnlYoveill PSSR S0t “aéaa?éo” ©Je?

1) a8 JiHoedH 2) (P8rHsed

3) HGHFH SOHB  4) EPD DY
Which of the following leader was not a
Swarajist?

1) Motilal Nehru

2) C. Rajagopalachari

3) C.R.Das

4) None of the above

Bod S® 5 QoPeyg TPOHBD S°EH?

1) Ie8erd J|5oe 2) &. Toaftare o0

CHAITANYAPURI, HYDERABAD




UNIQUE STUDY CIRCLE, CHAITANYAPURI, HYDERABAD. Ph: 9492459622

UNIQUE STUDY CIRCLE

178.

179.

180.

4) D& 52
Introduction of uniform salt tax throughout

3) 2.5, R

British India that later inspired movements like
Civil Disobedience, was associated with

1) Lord Lytton 2) Lord Mayo

3) Lord Cunningham 4) Lord Dufferin
BER soBair wodes &8 DD &P Dy
Lo“acb‘;%%a%c‘éo, ESard 5800508 B0
€85583°00 (58200567

1) e7°§ &)%5 2) e7°§ JeBe

3) e>°§ EQoh B 4) e7°§ QS

The Act 0f 1935 was unanimously rejected
by the Congress. Why?

1) It did not provide for convening of a
Constituent Assembly for India.

2) There was no provision for universal adult
franchise

Which of the above is / are correct?

1) 1 Only 2)2 Only

3) Both 1 and 2 4) None of the above
1935 $epd) sPo@® Qi 8890000
QonE?

1) 98 gPESR°I8 Toeg0n HORE DTED
30‘53&302)& 008058

2) .31’6(5@’% STresd %0 denHod Jeosd
Bo.

1) 1,508 2) 2, SIS

3) 1, $H8c5» 2 4) bzt

The Indian National Army (INA) was created
by Netaji Subhash Chandra Bose near the
1) Swadeshi Movement

2) First World War

3) Second World War

4) Civil Disobedience Movement

B08AHS RIS o8 (INA) Jod Logrsy
SolEE*R O Bahos® doven Beeed?

1) ﬁ(sé% ecs?gzé;o

2) SInBE (HH0s 0‘533630

3) Bo&S (HH0:S csngo

4) méﬁsgoéﬁé €85500
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181.

182.

183.

184.

Choose the correct statements

1) Simuka was founder of Satavahana dynasty
2) Simuka was a contemporary of Ashoka
I)lonly 2)2only 3)1&2 4)None
DBFS (HELBED JoH&osd?

1) TEarieen Toay PO Skogotd

2) §50amH 058 $HO%HDH

1) 1, (& 2) 2,575

3) 1, $H8c%» 2 4) bzt

Choose the correct statements

1) Hala title Kavivatsala

2) Pragnaparamita book written by Hala
I)lonly 2)2only 3)1&2 4)None
DBGS (HBL5D doH&osd?

1) $Pend XD EDDIS entd

2) @’3%3 FEDE HHESD FendT EDoSE8.
1) 1,508 2) 2, Sw(BD

3) 1, $H8c5» 2 4) bzt

Choose the correct statements

1) PV Parabrahma Sastry say the capital of
Vishnukundinas is - Indrapala Nagaram

2) Madava Varma - II shifted the capital to
Denduluru from Indrapala puram

I)lonly 2)2only 3)1&2 4)None
DBFS (HELB5DH JoHEosd?

1) .. éé@&w&@@ ZDK%%éao&éaeJ ooesped
golBare S8 @ Bak.

2) S5 S —2 T BoBare HBo $rod
falelaviSvileRls Vi vo vk

1) 1, S 2) 2, Sw(B

3) 1, £H8c5%» 2 4) dbsotH

Choose the correct statements

1) Rudramadevi title is Rayagajakesari

2) Rudramadevi army chief Gona Ganna
Reddy defeated Telugu Cholas and Kota
kings

I)lonly 2)2only 3)1&2 4)None
DBGS (HEedOH JotHeosd?

1) H(EHBD D& Teohites B

2) HBEHTD s> FESKTBE Beotd S
o HB%H &% orererdd dBBowRE.
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185.

186.

187.

1) 1, (& 2) 2, SIS

3) 1, HH8c5%» 2 4) bzt

Choose the correct statements

1) Vishwanatha Satyanarayana called Tikkana
Telugu Shilpapu tota

1) Tikkana titles are - Kavibrahma,
Ubhayakavindra

I)lonly 2)2only 3)1&2 4)None
DBFS (DB Do s?

1) DETPY DBgrTecdes BERD Bent®d %e;a)a’g)é&éo
@ OB,

2) 8%)5 Dothen - KD (o, eEah 8 Dl
1) 1, (& 2) 2,575

3) 1, $H8c5» 2 4) bzt

Choose the correct statement

1) Qutubshahis Founder - Sultan Quli Qutub
Shah

2) Qutub Shahis are Shia muslims

I)lonly 2)2only 3)1&2 4)None
DBSNS (DB Do 8?

1) H&HETEo SodPB8HE - HeS
LOSH&HIap

2) H&HBPEren RATENRoD

1) 1, (& 2) 2,575
3) 1 5805 2 4) &z
Match the diamond industries

List-1 List-IT

A) Kolluru 1) Krishna
B) Paritala 2) Gunturu
3) Ramappakota 3) Karataka
4) Kolar 4) Anantapur

1) A-1, B-2, C-3, D-4
2) A-2, B-1, C-4, D-3
3)A-3, B-2, C-1, D-4
4) A-4, B-3, C-2, D-1

@BHBHEN?

erdar-1 edge-2

D) Eard 1) @KE,}

&) Héere 2) 0t

) mzéoéo)gséa 3) Speos

&) &%erb 4) 30858
UNIQUE STUDY CIRCLE 30

188.

189.

190.

191.

1) o-1, -2,
2) -2, -1,
3) 2-3, -2, d-1, &-4

4) -4, -3, 2-2, &-1

Choose the correct statement

1) T.N.Sadalakshmi belongs to mehtar caste
2) Sadalakshmi won from Kama Reddy
constituency.

I[)lonly 2)2only 3)1&2 4)None
DBFS (8D JoHEosd?

1) 8.28. éwf@g& 5FE Herdd FohHId

2) éme‘é&m& S‘°é)3§ QXrass zﬁgo Sod
RenSPoredd

1) 1,508 2) 2, Sw(BD

3) 1, £H8c5%» 2 4) bzt

What is the name of girl who worked hard to

-3, &-4
-4, &-3

spread "Mahayana boudha" during Veera
purushadattudu?

1) Gouthami 2) Upasika

3) Badantha Charya 4) Vasista
DBHBHRSHE see08® Hrs5easrd 33"665p s
BTTRE B T TYE I?

1) 3880 2) &ard8

3) aﬁmoémé?g 4) é%{é

Choose the correct statements

1) Gaddar's first song was "Apuro Rickshaw"
2) Gaddar was shot at by assailants on 6 April
1997

I)lonly 2)2only 3)1&2 4)None
DBFS (58S Do 8?

1) 586 &9 e - “wHy 085E>

2) 6 ABS 19978 KE6P tookrhen sePeR)en
230a0%0.

1) 1, (& 2) 2, Sr(BD
3) 1, $H8c5» 2 4) bzt
Match the following

List-1 List-IT

A) Bottha 1) Breath

B) Mosa 2) Stomach
C) Peyyi 3) Lowerjaw
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194. Assertion (A) : In salarjung museum, the

UNIQUE STUDY CIRCLE

192.

193.

D) Gaduma 4) Body
1) A-1,B-2, C-3, D4
2) A-2,B-1, C-4, D-3
3) A-4, B-3, C-2, D-1
4) A-3,B-2, C-1,D-4

2388000 ?

edee-1 erdee-2

) &°E 1) &%

&) D 2) @0%

) oo 3) 80 &3
&) K5 4) $680

1) 9-1, -2, »-3, &-4

2) -2, -1, 1-4, &-3

3) -4, -3, 2-2, &-1

4) 9-3, -2, -1, &-4

Choose the correct statement about Sitaram
Bagh temple

1) Built by puranamal Janriwala

2) 4th Nizam Nasir-ud-duada donated land
I)lonly 2)2only 3)1&2 4)None
dzroroerh DodBXL HBoD VBX (D8I
DoHE 8.

1) & HTTEHS Qoo AGOTD

2) B8 48 Jepo $5HE 68 Ter e oo
Sz

1) 1, (& 2) 2, Sr(B

3) 1, 0805 2 4) Dbt

Choose the correct statements

1) Hyderabad House built by Mir Osman Ali
Khan

2) Hyderabad House Design - Butterfly
shape

I)lonly 2)2only 3)1&2 4)None
DBSNS (DB DoHES08?

1) esoeers SR 6 aS ©0darS
Do,

2) rsoers SR 8BS - 2es’s dend
955088 Gotnod.
1) 1, &g

3) 1, odasm 2

2) 2,&m(ED
4) Db
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195.

collections ofthree persons who belong to a
same family and served as the prime ministers
in Nizams rule are being displayed.

Reason (R) : Nizam sultans gave the title
"salarjung" to these three persons. They are
1) Mir Turrab Alikhan 2) Mir Laik Alikhan
3) Mir Yousuf Alikhan

1) Both (A) and (R) are true and (R) is the
correct explanationto (A)

2) Both (A) and (R) are true but (R) is not
the correct explanatin of (A)

3)(A)istrue (R)is false

4) (A)1s false (R)is true

D850 (A) : Fperd esof Srgaho &89
2.8 He0oerdd Bobs Lol Hhen Jerow
FoSE® (HAP HY BDS T8 DESeaen.
&HH (R) @ dewo depidoen HBE Berbeoly
o3 HHHITND. T8 1) b HBS ©degrS

2) &8 ercHE ©wdgrS 3) b crdH dgrs
1) (A) %80 (R) e Both a0 065
(R)(A) % 25630 D5

2) (A) 8% (R) en Both @350 =2 (R)(A)
% 9B Db S

3) (A) 350 (R) evaedsdsson

4) (A) oa3550 (R) argd8m

Choose the correct statements

1) In 1924 Charles walker fosnet got this
church erected in gothic style

2) Tiles used in this churge were imported from
Italy

I)lonly 2)2only 3)1&2 4)None
DBFS (HEL5D JoHEosd?

1) 19146° =38 588 JryeS K8 300 788
30sb Do,

2) B8 $0)S° eDBrACDS BS)H atd Kod
BIHHE B8

1) 1, $o(& 2) 2,578
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3) 1, S8a%0 2 4) Db 199. Choose the correct statements
196. Choose the correct statements 1) Siddala Ashok Teja song Nenu saitam.
1) PV Narsimha Rao was elected from 2) Harindranath Chattopadhya was the
Manthani constituency from 1957-77 younger brother of Sarojini Naidu
2) PV Narsimha Rao resigned as CM in 1973 I)lonly 2)2only 3)1 &2 4)None
I)lonly 2)2only 3)1&2 4)None DBGHS (HBB5D DoH&osd?
$OTE YD JoHetol? 1) otre @8 Ses T VEPE0’ e T
1) 1957-77 o&° 2.8, $820570°9 P8 $HoFR 2) OOETE Se°RrTRas KR TP D)
DT So ool APESig. Lot
2) 8.9. ¥ByosoeY P 19738° .o HE5D8 1) 1,5mo@D 2) 2,87(&
oeddr D 3) 1, $H805%» 2 4) bzt
1) 1, SmEs 2) 2, SrE 200. Choose the correct statements
3) 1, Sodcso 2 4) dbsesd 1) Maa Bhoomi (1980) film got film fare
197. Choose the correct statements award
1) Vijaya Shanti first film was Kiladi 2) Rangula Kala (1983) was directed by
Krishnudu Narsing Rao
2) Vijaya Shanthi belongs to Suryapet district I)lonly 2)2only 3)1&2 4)None
I)lonly 2)2only 3)1&2 4)None DBFS (HELB5DH JoHEosd?
DBFS (HELB5D JoHEosd? 1) S 2o (1980) 2AST 2O HE TSNy
1) De3cH@08 &0 ISP - 8erdl Fodod.
2) DesdH3od é&é@o K}Jﬁ(ﬁéﬁ)é\) dep 2) Bove o (1983) I8 §8§5 - 3&onTeD
1) 1,508 2) 2,578 1) 1, (& 2) 2,578
3) 1 o805 2 4) bzt 3) 1, $H8c5%» 2 4) bzt
198. Choose the correct statements
1) Prof. Kodanda Ram native place sokok
Mancherial

2) Prof. Kodanda Ram original name -
Kodana Rami Reddy

I)lonly 2)2only 3)1&2 4)None
JBIDI _‘58553059263 DoHE%8.

1) Br06 88otoe Sge0 - Hodoge
2) B8 ESokoed eden B - 8ol

m@oacz,
1) 1, Se(gad 2) 2,5m(B
3) 1 850 2 4) Hbszeesn
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